राजस्थान राज्य पथ परिवहन निगम, मुख्यालय

परिवहन मार्ग, जयपुर

निर्माण शाखा - निविदा सूचना संख्याः 04/2018-19

निगम के निम्नलिखित निर्माण कार्य हेतु मोहर बन्द निविदायें केन्द्रीय/राजकीय विभागो/उपक्रमों के पंजीकृत/अनुभवी संवेदको से आमंत्रित की जाती है। निम्नलिखित निविदायें Website: www.sppp.raj.nic.in से download कर प्राप्त की जा सकती है अथवा इस कार्यालय एवं चूरू आगार कार्यालय में भी निर्धारित शुल्क जमा करवाकर दिनांक 05-06-2018 को 2.00 बजे सायं तक प्राप्त की जाकर दिनांक 05-06-2018 को 3.00 बजे सायं तक जमा की जावेगी एवं 3.30 बजे सायं उपस्थित संवेदकों के समक्ष खोली जावेगी। Download किये जाने की स्थिति में अमानत राशि के साथ—साथ निविदा शुल्क की राशि भी डीडी/नगद के रूप में जमा करवाई जानी आवश्यक होगी। यदि निविदा विक्य/प्राप्त तिथि को राजकीय अवकाश होगा तो आगामी कार्य दिवस को निविदा विक्य एवं प्राप्त की जावेगी।

क्र. सं.	कार्य का नाम	अनुमानित लागत (रू.लाखों में)	अमानत राशि (रूपयों में)	निविदा शुल्क (रूपयों में)	कार्य अवधि (माह)
1	बस स्टेण्ड चूरू पर विद्युत रिवाईरिंग का कार्य	1.50	3000	200.00	2

नोट:-

- 1. निविदा प्रस्तुत करते समय रजिस्ट्रेशन, जीएसटी नम्बर एवं पेन नम्बर इत्यादि की प्रति प्रस्तुत करनी होगी।
- 2. निविदादाता का क्षेत्रीय भविष्य निधि आयुक्त कार्यालय में पंजीकृत होना आवश्यक है एवं पंजीकरण की प्रति प्रस्तृत करनी होगी।
- 3. निविदा की शर्ते कार्यालय / पोर्टल पर देखी जा सकती है।
- 4. अधोहस्ताक्षरकर्ता को बिना कारण बताये निविदा निरस्त करने का अधिकार होगा।

(एस.के. चौधरी) कार्यकारी प्रबन्धक(निर्माण)

राजस्थान राज्य पथ परिवहन निगम, मुख्यालय

परिवहन मार्ग, जयपुर

यू0ओ0नोट

विषय:— निविदा सूचना संख्या 04/2018—19 को अपलोड करने बाबत।
उपर्युक्त विषयान्तर्गत निवेदन है कि मोहर बन्द निविदा की प्रति online प्रकाशनार्थ
संलग्न कर भिजवाई जा रही है, जिसको निम्न बेबसाईट पर upload करवाने का श्रम करें।

- 1- transport.rajasthan.gov.in/rsrtc
- 2- www.**sppp.raja**sthan.gov.in

संलग्नः उपरोक्तानुसार

(एस.के. चौधरी) कार्यकारी प्रबन्धक(निर्माण)

<u>महा प्रबन्धक (आई.टी.)</u> रा0रा0प0प0निगम, मुख्यालय, जयपुर। क्रमांक:— एफ / मुख्या / निर्माण / 2018 / 312 दिनांक :— 14.5.18

OFFICE OF THE EXECUTIVE MANAGER (CIVIL) RAJASTHAN STATE ROAD TRANSPORT CORPORATION, HEAD OFFICE, PARIVAHAN MARG, JAIPUR-302001

NOTICE INVITING TENDERS FOR WORKS

- 1. Tenders are hereby invited on behalf of the Chairman, Rajasthan State Road Transport Corporation for the Works of "Electric Rewiring work at Bus Stand Churu (Approximately cost of Rs. 1.50 lacs) from enlisted Contractors of the appropriate class/ Contractors enlisted with the CPWD, Postal, Telecom, Railway, MES, other State, Governments, Central Government Undertakings/ Organizations and working Contractors of RSRTC.
- 2. Contact document consisting of the detailed plan, complete specifications, the schedule of the quantities of various classes of work to be done and the set of conditions of contract to be complied with by the persons whose tender may be accepted, which will also be found printed in the form of tenders, can be seen at the office of the Executive Manager (Civil), Head Office, Jaipur every day except on Sundays and Public Holidays, during office hours and on website: www.sppp.raj.nic.in.
- 3. Tenders, which should always be placed in sealed covers with name of the work written on the envelops, will be received by the Executive Manager (Civil) Head Office, Jaipur or Chief Manager Churu upto 3.00 PM on 05-06-2018 (date) in the presence of such Contractors or their authorized representative, as are present.
- 4. (A) Tenders are to be submitted on a prescribed form, which can be obtained from the office of the Executive Manager (Civil), Head Office, Jaipur or Chief Manager Churu on payment of a sum of Rs.200/- in cash or by DD in favour of Financial Advisor, RSRTC payable at Jaipur. The sale of tenders will be closed upto 2.00 PM on dated 05-06-2018 Before submitting tenders, it shall be ensured that all the tender papers including conditions of contract are signed by the tenderer. Eligibility to get tender forms shall be with reference to the amount mentioned in the NIT.
 - (B)Tender documents can also be downloaded from website: www.sppp.raj.nic.in. In case, tender documents are downloaded from website, tender cost in lieu of DD in favour of Financial Advisor, RSRTC, Payable at Jaipur will be submitted to the office before submission of tender documents.
- 5. The work is to be completely finished to the satisfaction of Engineer Incharge within **Two months** from the date written order to commence the work.
- 6. Earnest money amounting to Rs. 3000/- must accompany each tender and each tender is to be in a sealed cover, superscribed "Electric Rewiring work at Bus Stand Churu and addressed to the Executive Manager(Civil), Head Office, Jaipur. Earnest money in cash or Bankers cheque or DD of nationalized/Scheduled Banks in favour of Financial Advisor, RSRTC payable at Jaipur, should be deposited with the cashier or authorized clerk and his receipt

should be attached with tenders, in case of tenders for works of which tendered cost is Rs. 5.00 Crores and above. Earnest money of Rs.10.00 lacs shall be accepted in cash as above and remaining part of Earnest Money can be accepted either in the form of Bank Guarantee (from RPWA 87) or in cash. Enlisted contractors shall be required to deposit ½ % of estimated cost of works as Earnest Money while tendering within their enlistment zone. For outside their zone, 2% Earnest Money shall be required to be deposited.

7. The security deposit @ 10% of the gross amount of the running bill shall be deducted from each running bill and shall be refunded as per rules on completion of the contract as per terms and conditions. However, the amount of security deposit deducted from running bills shall not be converted into any mode of securities like bank guarantee, FDR etc. The earnest money deposited shall, however, be adjusted while deducting security deposit from first running bill of the contractor. There will be no maximum limit of security deposit.

However, a contractor may elect to deposit full amount of 10% security deposit in the shape of bank guarantee or any acceptable form of security before or at the time of executing agreement. In that case earnest money may be refunded only after deposition of full 10% as above. However, in case during execution cost of works exceeds as shown at the time of depositing 10% as above, balance security deposit shall be deducted from the Running Account Bills.

- 8. The acceptance of the tender will rest with the competent authority who does not bind itself to accept the lowest tender and reserves to itself the authority to reject any or all of the tenders received without assigning any reason.
- 9. Tender forms as issued from the office mentioned above (para-4) must be returned with all enclosures to the Executive Manager (Civil), Head Office, Jaipur following on the date of receipt of tender.
- 10. No refund of tender fees is claimable for tenders not accepted or forms returned or for tenders not submitted.
- 11. The rates quoted by the contractor will remain in force upto 90 days receipt from the date of tender. If any tenderer withdraws his tender prior to expiry of the said validity period or mutually extended period makes, modifications in the rates, terms & conditions of the tender within the said period, which are not acceptable to the Department or fails to commence the work in the specified period/fails to execute the agreement, the Department shall without prejudice to any other right or remedy, be at liberty to forfeit the amount of Earnest Money given in any form absolutely. If any contractor who having submitted a tender, does not execute the agreement or start the work or does not complete the work and the work has, to be put to retendering, he shall stand debarred from participating in such re-tendering in addition to forfeiture of Earnest Money/ Security Deposit and other action under agreement.
- 12. All tenders, in which any of the prescribed conditions are not fulfilled or which have been vitiated by errors in calculations totaling or other discrepancies or which contain over-writing in figures or words or corrections not initiated and dated, will be liable to rejection.
- 13. Appropriated enlisted contractors of RSRTC will be required to pay Earnest Money @ ½ % of the estimated cost of work put to tender, in case of works for

which they are authorized to tender, under Rules for enlistment of contractors but the amount to the extent of full Earnest Money shall be liable to be forfeited in the event of circumstances explained in clause-11 above. Degree/ Diploma holder Engineers may pay Earnest Money equal to one half of the normal rates, subject to the provisions of Rules for enlistment of contractors.

14. The whole work may be split up between two or more contractors or accepted in part and not in entirely, if considered expedient.

Executive Manager (Civil)

For and on behalf of the Chairman, RSRTC

RAJASTHAN STATE ROAD TRANSPORT CORPORATION

HEAD OFFICE, PARIVAHAN MARG, JAIPUR-302001

GENERAL TERMS & CONDITIONS (ELECTRIC)

- 1. The work shall be done as per P.W.D. (B&R) specifications and as per Indian Electricity Boards Rules.
- 2. All joints should be sealed & water tight and properly screwed.
- 3. All the material will be used ISI make for conforming to the specifications.
- 4. The test rules should be submitted on completion of the job along with the complete report and circuit drawings.
- 5. All papers must be signed by the Contractor.
- 6. Contractor must report immediately on suspension of the licence.
- 7. The work must be carried out as per Electric Specifications-1980 on as prevalent BSR of PWD circles.
- 8. If there is any typing, graphical or clerical error in the G-Schedule, the rates as given in the prevailing PWD BSR for the same on which G-Schedule prepared, shall prevail.
- 9. If required, "L" form will be provided by the contractor.
- 10. Old material (unserviceable/scrap) will be deposited in the store and obtain the proper receipt from concerned office and will be produced in the office of the undersigned.
- 11. All papers of tender documents must be signed by the contractor.
- 12. contractor should be registered with regional provident fund commissioner.
- 13. contractor should have GST registration number.

It is certified that our firm is holding valid Electric licence from Electric Inspector. (Licence No.)

Signature of the Contractor with full address	Executive Manager (Civil) R.S.R.T.C.

RAJASTHAN STATE ROAD TRANSPORT CORPORATION, JAIPUR

Name of Work: Re-Wiring Work at Bus Stand Churu

'G'-SCHEDULE

Rates Based on PWD Electric Circle Jaipur BSR 2013

S.No.	Item	Qty.	Rate	Unit	Amount
1	Wiring of light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade (IS:694) of approved make in surface / recessed ISI marked MMS (IS:9537 P - III) PVC conduit & it's accessories, round tiles,18 SWG M.S. box with earth terminal, screwless cage connectors for neutral looping in switch board & false ceiling point, 6 A switch, 3.0 mm thick ISI marked phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required. Group-1				
a)	Short point (up to 3 mtr.)	30.00	215.00	Each	6450.00
b)	Medium point (up to 6 mtr.)	30.00	338.00	Each	10140.00
c)	Long point (up to 10 mtr)	40.00	474.00	Each	18960.00
2	Wiring of 3 pin 5 amp. Light plug point with 1.5 sq. mm nominal size	10.00	90.00	Each	900.00

S.No.	ltem	Qty.	Rate	Unit	Amount
	FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq. mm nominal size FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade(IS:694) of approved make in surface / recessed ISI marked MMS (IS:9537 P - III) PVC conduit & it's accessories, 18 SWG 175 mm x 100 mm x 60 mm M.S. box with earth terminal, screwless cage connectors for neutral looping in switch board , 6 A switch, 6 A socket, 3.0 mm thick ISI marked phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required. Group-1 on Board				
3	S&F following sizes (dia.) of ISI marked medium duty PVC conduit along with accessories in surface / recessed using saddles, clamps, fastener as required including cutting the wall, covering conduit with Wire mesh and making good the same as required. Group-1				
a)	20mm	100.00	32.00	P.Rmt	3200.00
b)	25mm	80.00	42.00	P.Rmt	3360.00
4	P&F Recessed/ Surface mounting heavy duty horizontal type sheet steel Distribution board phophatised/ powder painted complete with suitable rating				

S.No.	Item	Qty.	Rate	Unit	Amount
	insulated copper bus bar, shorting link, neutral link, earth link and din bar,masking sheet, conforming to IS13032 & IS8623 including making internal DB terminations with copper lugs, testing etc. as required. Group-1				
a)	Double door (single phase) 8 Way	2.00	897.00	Each	1794.00
b)	Double door (Three phase) 4 Way	2.00	1820.00	Each	3640.00
5	P&F 240/415 V AC MCB with positive isolation of breaking capacity not less than 10 KA (B/ C/ D tripping characteristic) ISI marked IS 8828(1996)]/ conforming to IEC 60898 in existing board/sheets including making connections with lugs, testing etc. as required. Group-1				
a)	Single pole MCB 6 A to 32 A rating	20.00	151.00	Each	3020.00
b)	Single pole & neutral MCB 6 A to 32 A rating	10.00	401.00	Each	4010.00
c)	Four pole MCB 40 A 63 A rating	2.00	1378.00	Each	2756.00
6	SITC of quick make and quick break 4 POLE current limiting MCCB having following current rating, short circuit breaking capacity at 440/415 V, 50 Hz; O/L & S/C settings and conforming to IS 60947-2 / IEC 60947-2 with front face and centralised adjustable, line load interchangeability, having positive isolation capability, provision for	1.00	6341.00	Each	6341.00

S.No.	ltem	Qty.	Rate	Unit	Amount
	UVR , shunt trip ,earth fault trip, push (test) to trip , including making connections with lugs / spreaders, etc. as required. With Thermal Magnetic release up to 100 Amp , 25 kA, adjustable O/L & fixed S/C setting, lcs = 100 % lcu Group-1				
7	P & F strip type fluorscent tube fitting fabricated from (CRCA sheet and finished with powder coating / stove enamelled paint)/(extruded non corrosive UV resist EP channel) complete with accessories (Low Loss Copper Choke, starter, starter seat) / Electronic Choke with terminal block duly prewired with copper conductor including making connection, testing etc. as required. (without tube) 1 X 36 Watts with EB Group-1	30.00	377.00	Each	11310.00
8	P & F Fluorscent tube rod in existing fixtures as required, minimum 3 STAR rating Flourscent powder coated 36/40 Watts Group-1	30.00	63.00	Each	1890.00
9	P & F Star rated double ball bearing capacitor start, aluminium body & blade ceiling fan with down rod up to 30 cm with 3 x 1.5 sq.mm pvc insulated flexible copper conductor making connection testing etc. as required. 1200 mm Sweep 5 Star rated Group-1	12.00	1896.00	Each	22752.00
10	P & F ISI marked socket size flush	12.00	210.00	Each	2520.00

S.No.	ltem	Qty.	Rate	Unit	Amount
	type 120/280 watt rotary 5 step fan regulator including making connection testing etc. as required. Group-1				
11	P & F IP-65 protected street light luminaire on existing bracket suitable for HPSV/ MH LAMP, made from powder coated single piece pressure die cast aluminium housing, electrochemically brightened and anodized POT optics aluminium reflector, heat resistant and toughened glass cover and accessories like copper ballast, electronic ignitor, capacitor, holder prewired up to terminal block etc. as required including making connection testing etc. as required (without lamp) Street Light Suitable for HPSV Lamps 1 X 150 Watt Group-1	5.00	5250.00	Each	26250.00
12	P & F Normal / High Output High pressure sodium vapour/ Metal halide / Halogen lamp as required. HPSV Elliptical lamp High Output 150 Watt 17000 Lumens Group-1	5.00	510.00	Each	2550.00
13	P/Laying P.V.C. / XLPE insulated & P.V.C. sheathed cable of 1.1 KV grade with aluminium conductor of IS:1554 P-I / IS:7098 P - I of Group 1 of approved make in ground as per IS:1255 including excavation of 30cmx75cm size trench, 25 cm thick	60.00	159.00	P.Rmt	9540.00

S.No.	ltem	Qty.	Rate	Unit	Amount
	under layer of sand,IInd class bricks covering, refilling earth,compaction of earth, making necessary connection, testing etc. as required of size. 16.0 Sq.mm 3 core Armoured				
14	P&F TP&N 415 V side handle operated double break fuse switch unit in sheet steel enclosure conforming to IS: 13947 P-III and IS:4064 (W/O HBC fuses) including making connections with suitable lugs, testing etc. as required. 63 A rating Group-1	2.00	4288.00	Each	8576.00
			7	Total Rs.	149959.00

EXECUTIVE MANAGER (CIVIL) R.S.R.T.C., JAIPUR

Add/Subtract tender premium are above/belov
In figure
in Words

Signature of the Contractor

with full Postal Address